Lior Silberman’s Math 101 12

6. POLYNOMIALS AND EXPONENTIALS
(24/9/2019)

Goals.

(1) Exponentials: laws of powers
(2) Derivatives of exponentials
(3) The tangent line

Last Time.

D vulss: 29> $297, (e9) = Fgu £y’ (B $28
o V- ?"
EERS

vhy 0 e grodid b Hals £y )

Now jR¥- (sfead "# F//x)‘ﬁ MH:?‘NX) ) 'UWL

(v s £4x) + | £ls
( Exomie MW pth vude)
(4) ™ )9 i &_ﬁk ﬁff'&)‘a/x) M’Z f-,(ﬂq’/x)
l £ j'hﬁ"ﬁt) [ Klso st Time - YY%)- (Q»u&olm'n,#
T (glon ahaad, naming, quanbities)

|



Math 100 - WORKSHEET 6
POLYNOMIALS AND EXPONENTIALS

1. DIRECT PROBLEMS

(1) Differentiate
(a) f(z) = 62™ + 22° — x7/?

f/*) : Gmx e Xe—’— g_-XS'/z
(using powtc s cule, Lingavly)
(b) (Final, 2016) f(z) = r2e? (also try z%")
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2. EXPONENTIALS

(1) Simplity (e ( 5>3 (21/3> 12 73_5. 1’3' _1-.;-
JIREL ‘12
\Q ) - =L ), Fﬁ,) 2 '14216) 1}{)‘.5“:13,3;1‘:4%

\am
(2) Differentiate: Lpeto m!‘
@) 10" o (,05/ Loy o) 10"

(b) 5 10% 422

3741 Oy RS

- Ie1ox
OO(TX- ,\1“&)) (i{pjolo;-lr)&ﬂ)( B S UR ?o(f yulr bo Show
) (341D | L(ab)-L(e)+LLL)
" G () ) L8 S )
4 fov)”)




Dugohon; whah  aboit %(\(’(3 A wet for cls o,
Iy "(oydf\'“\MC W. $

(ov wrde %o e Chat vult)

: Tdmfn" (e,
Doll, 5 2@ is b ab %0, they th e fompat
bt axah y-f o s, ta) i Ho Lo wH 244 ho
té-f—(a): P 18) (% - a)
" M= Kla)(x-8) + o)
Moy e Hla)xox %)-F’/Zq
Vefud; 10 4 1 e fing line (approximity £ty e long
(0 9o e oo find #la), #a)




3. TANGENT LINES
(1) Suppose that f(1) =1, g(1) =2, f'(1) =3, ¢'(1) =
4. Find (fg)' (1) and (g) (1).
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(2) (Final, 2015) Find the equation of the line tangent
to the function f(z)= /7 at (4,2).
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(3) Find the lines of slope 3 tangent the curve y = z° +
4x* — 8z + 3.
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(4) Let f(x) = ( ) where g(z) is differentiable at z = 1.
The line y = 2:13 1 is tangent to the graph y = f(z)
at z = 1. Find ¢(1) and ¢'(1).

T U heo Slope 3, pasw Pwoush (1,1).
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(5) (Final 2015) The line y = 4z + 2 is tangent at x =
1 to which function: 3 + 222 + 3z, 2% + 3z + 2,
oNzxr+3+2, 22+ 22—, 23+ x + 2, none of the
above?
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